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Question Number : 1 Question Id : 3354724831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which cne of the following states has been ranked as the most farmer-friendly State by the NITI Aayog? | Hifd
AT T e T udart # o T udar i Terart o oy waiterar argger naar @ o=l e e

Options:

1. % Maharashtra | TeWE

2. % Madhya Pradesh | Teamgar
3. # Rajasthan | ==

4. % Punjab | T

Question Number : 2 Question Id : 3354724832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ancient city of Ujjain lies on the banks of __ River. | TR M5 3=

Options:

1. % Narmada/ AdaT
2. ® Kyashypa &40
= ¥ Kshipra/ f9mr

4. % Tapti| ITHT

Question Number : 3 Question Id : 3354724833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following took 16 wickets on test cricket debut? | 77/ # & Tore 3% e ST ugail U /16 e

Options:

1. % Cottari Kanakaiva Nayudu | IR d5a1 TS
2. ¥ MNarendra Hirwani | =g Etamr

3. % Mansoor Ali Khan Pataudi | 56T sTel @ TG
4. % Aslam Sher Khan [ S/#AR 8F T4

Question Number : 4 Question Id : 3354724834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following constructions in Madhya Pradesh has NOT won the Aga Khan Award for
Architecture? | mﬂu&ﬂﬁ%ﬂﬁ%ﬁﬁﬁﬁmﬁﬁwﬁwﬂ?ﬁq ST T [T g1 SAaT7

Options:

1. ® Aranya Corrmunity Housing, Indore | sR0T ST FIEWET, FaX
2. ¥ Vallabh Bhawan, Bhopal | Jwe 944, O

Z. % Vidhan Bhavan, Ehopal | e sea=, e

4, % Slum Networking, Indore | T0 S2aigT, T-aK

Question Number : 5 Question Id : 3354724835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the following is the oldest institute in India for fundamental research in basic sciences? | FEEET T

I AT gi-aTa T et # Jifew gy & o7 IR %7 e [HT 6T 27
Options:
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1. ® Tata Institute of Fundarmental Research | 12T Geld SRTHe S0 (T10] SHe eE ATF ha i )

2. ¥ Indian Association for the Cultivation of Science | o ST ARd 19§ (F02oH TETETI B § Bircda HTH
LIS

3. % Indian Institute of Science | IREH A S9I ($1299 SHe ez ATE A5 )
4. % National Physical Laboratory | T8 @i TaiTamaT (S T rama deie

Question Number : 6 Question Id : 3354724836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the legder of the first Indian team that stayed in Antarctica during winter? | dfeal & ST sETdieHET
75 T UEel A 197 10 o =T @i &7

Options:

1. % HE Gupta | U@ 1A

2 ® VK Raina | @&

3. ¥ 5.5 Sharma | TA.UE.

4. % 57 Oasim | THES, wOd

Question Number : 7 Question Id : 3354724837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

INarre the river on which the Hirakud rmultipurpose project has been built? [ 39 Fa] & 710 9d1 6 T 5 Fs
g IR AT Wi =T T o T e 27

Options:

1. # Godawvari [ =T
2. # Damodar | gHRT
2. ® Sone | 94

4. ¥ Mahanadi | AL

Question Number : 8 Question Id : 3354724838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The “anbandhu KELI}.FELI] YQ_jElﬂEl’ (WEY) 15 aimed at im rr::uving the infrastruqture and human development

indices of the ______ | T T AT (TS W Jeed T e, AT A1 ShTEg et S A e e

Options:

1. % Farmers | Tt

2. Tribal population | T4 (& TAagar
3. % Senior citizens | FE ATTERT

4 % Weaker sections | WA Gl

Question Number : 9 Question Id : 3354724839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wiorld Ozone Day’ 15 celebrated on
AT AT 21

Options:
1. % 16th September | 16 daw

2. % 27th Septemnber | 27 Hdaw
3. % 20th Septemnber | 20 #dew
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4, % 30th Septermnber | 0 FHdew

Question Number : 10 Question Id : 3354724840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Right to Property was removed from Fundamental Rights by which amendrment? | Tore Gt & T Jifoe
aﬁ’ch"l'(% o HUT o TSR FgeT TaaT =T a7

Options:

1. % 20th | 29
2. % 2Sth | 254
= ¥ 44th | 44

4 # 4ond | 424

Question Number : 11 Question Id : 3354724841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What medal did P.V. Sindhu win at the World Badminton Charmpionship 20177 | U1t ey = faeg a=fies
AT 2017 H &1 |7 UgeF A1d17

Options:

1. % Gold | ganf

2 % Silver | 99

3. ® Bronze | w6

4 % Platinum | qeifead

Question Number : 12 Question Id : 3354724842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vikram Sarabhai Space Centre is located at _________ | Torwm anraTE eEtea d H o 8

Options:
1. ¢ Thiruvananthapurarn | dee—agwd
2. % Sriharikota | sfgiegrer

2. % Hassan | 564
4 % EBalasore | ST

Question Number : 13 Question Id : 3354724843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ehagat 5ingh and REL_]gU.I"Ll Were hanged along with ___________ on 23rd March 1921, | 23 AR 1931 &1 &g
o TS HT ___________ o | T &7 o
Options:

1. % Ramprasad EBismmil | TAWEE e
2 % Khudiram Bose | e @id

= % Mangal Fandey | AT 0023

4 ¥ Sukhdev | gEdT

Question Number : 14 Question Id : 3354724844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The abbreviation ‘SEBI’ stands for: | |igH &7 #Hl %7 qufeT 2

Options:
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1. ¢ Securities and Exchange Board of India | AW = w0 B =g
2. % Savings and Earnings Board of India | AW 9 =T & 31T 912

3. % Small Earnings Bank of India | 97412 &g 927 o

4. % Stock Exchange Board of India | ARG & 1w U= a2

Question Number : 15 Question Id : 3354724845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Eaul is the musical tradition of which one of the following Indian states? | =3, FEiAET § & B ard = =g @7

Options:

1. ¥ Gujrat | ToRIT

2. ¥ West Bengal | THH @A
3. % indhra Pradesh | 3T w24

4. % Himachal Pradesh | SRR m&ar

Question Number : 16 Question Id : 3354724846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who worshipped Gadkalika? | TEHIeET &1 =7 e 97

Options:

1. ¥ Kalidas | #eiEnT

2 % Tulsidas | TAEEH
3. % Surdas | e

4 % Raidas | 729

Question Number : 17 Question Id : 3354724847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Sanjay MNational Park extends into the districts of _______ | S ORI T2 _______
Options:

1. ¥ sidhi and Satna | #eft &ffc Faar

2. ® Sidhi and Rewa | dfeff ot Oar

3. % sSidhi and Sarguja | HrEft 8T wOTET

4, ¢ 5idhi and Singrauli | et ofT AT

Question Number : 18 Question Id : 3354724848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which vear was the Panna MNational Park included in Project Tiger? [ Tore af ogr @i urdh &1 W= <127 § i
TR T A7

Options:

1. % 1981
2. ¥ 1994
3. % 1999
4, % 1997

Question Number : 19 Question Id : 3354724849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
The MNeelkantheshewar Ternple of Jhabua is at

Options:

1. ¥ Petlawad | TedETE
2 ® Rangpura | QT

% % Deojhiri | 2aten

4. % Bahuriband | Fgiies

28th Dec 17 Shift 2

Question Number : 20 Question Id : 3354724850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is Tansen's tomb situated? | JTAE HT Adat] Tgl 0T 57

Options:
1. % Gwalior | ToER

2. ® Jhansi | ZEr
3. % Sheopur | YT
4 % Shivpuri | TdEger

General Maths and General Aptitude

Section Id : 335472104

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472104
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354724851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A train 250 meters long crosses a bridge in 20 seconds. If the speed of the train is 108 krmfh, then the length
of the bridge is: | UF 250 BT Fall (o U@ I F1 20 FHvs # U7 21 e ¥ @1 i 108 Rt ueT § a7 O @ e g

Options:

1. % 250m | 250 AT
2. % 500m | 500 #ET
3. ¢ 350m | 350 dter

4. % g00m | 600 HEX

Question Number : 22 Question Id : 3354724852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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A cuboid has edges. [ THTATHH ______ TSGR

Options:
1. % 5
= ¥ 12
3 %5
4. % 10

Question Number : 23 Question Id : 3354724853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x* — 6x° + 8x? — 10x + 11 is divided by x — 1, then the remainder is: JafE xt—6x +8x2— 10x

+11 & x- 19 Fafea = sar ¢ ar 9uwa 2

Options:
1.v 4
2 %5
3 % g
4 % -g

Question Number : 24 Question Id : 3354724854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e f ey ey
—X27 - 27
— isnot aan z o — Udh Héi I
_W'sz‘ _ _1\-'.25 _— %‘
Options:

1. ® real number | TWFD® TEAT

2. % fraction | g

2. ® rational number | THET TEAT

4 " irrational nurnber | SHT ST

Question Number : 25 Question Id : 3354724855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
lig =%

Options:

1. % 0.08
2. ¥ 0125
3 % 015

4 ® 085

Question Number : 26 Question Id : 3354724856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3]* =36

Options:
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> 22

3. %2
4 % 3

Question Number : 27 Question Id : 3354724857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | fHa FF &
45, 65, 40, 35, 25

Options:

1. % 40

2 % 41
3. ¥ 42
4. % 43

Question Number : 28 Question Id : 3354724858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
2 9]
If34"‘3=$=thenxis AT 34"‘3=;f49.FWK—%'

Options:
1.%1
= W2
3. %3
4. %0

Question Number : 29 Question Id : 3354724859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Three numbers are chosen from 2, 5, 7, 9, 11, 13, and I15, 50 that the sumis 35, The smallest number that
can be a member of such a setis: [ 3, 5, 7, 9, 11, 13 0d 15 H & o1 SEamsil @7 =0 56 Fp I B¢ o W1 Tee 35 51

| ST AW S, S 36 S B gged 5 awd 12, ___ 7]
Options:
1. % 3
o ® g
3. V7
4 % g

Question Number : 30 Question Id : 3354724860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 5*=15625, then 2%is /AT 5%=15625, dr 2%

8l

Options:
1. % 48
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2 % 32
3. % gz
4. ¥ 64

Question Number : 31 Question Id : 3354724861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If a person deposits 50 lakhs in the banlk, then how many millions of rupees is it equivalent to? | I HIE A0
o U SO 7R 0T AT 2, 97 g a1 [Hiees &9t F Jod a7

Options:
1. % 0E
2 %1
3.¥ 5
4 % 50

Question Number : 32 Question Id : 3354724862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& square and a rectangle have an equal perimeter. The side of the square is 12cm. If the len EU?th and breadth of
the rectangle are natural nurnbers, then the ratio of the sides of the rectangleis ____ 3 U ST &

RETT GHT 2 a1 7 4T 12 A 2 AT SR & ArETE S ST Wi e E a—srmmfﬁrﬂmaﬁfma@rﬁr ______ I
Options:

1.¥5:3
2 % 4:3
%53
4 % 2.z

Question Number : 33 Question Id : 3354724863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The %mbablht}.r of getting two heads when a coin is tossed twice is: | UF 93 &1 27 I IFTA- 0F 41 W S o g1

Options:
1. % 1/2
2 ¥ 1[4
%0
4 % 1

Question Number : 34 Question Id : 3354724864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The surm of 3anju’s and Manju's age 15 20 If Sangu 15 older to Marnju by 12 wears, then what 15 Sanju and

Manusage respectively? | T 1 A &1 AT T 21 AT A, T A 12 o o2l 81 7 F B 1 T T
T

Options:

1. % 20 vears, 8 years | 20 @4, 5 a9

2. % 18 vears, 6 vears | 18 @9, 6 a9

% ¥ 16 vears, 4 vears | 16 @, 4
{14 =74, 2 a9

4 % 14 years, 2 vears
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Question Number : 35 Question Id : 3354724865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 50 toy cars, out of which 10 are remote control cars. What is the probabilit g that when a icks a
car randomly, it is a non-remote control car? | 5O AT #R § Bad & fr 10 7 T\ ﬁ?ﬁlﬁ'cr@'cﬁr%’] sﬂig
WTIRId T & Tof STel Ueh o] g Rue & d U B BT =14 @ed 1 5, 91 ag Yo 1€ fente Tt w2t g

Options:
1. % 2/5
2. % 25
3. ¥ 4|5
4 % ]

Question Number : 36 Question Id : 3354724866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The nurtiber when divided bg 2736 leaves remainder 75, If the number is divided by 24, then the remainder

__ | UF OEIT T A 2736 F [T [T AT 8 97 SWEA 7S TEaT 81 Ji ST @ 24 8 [T T Sy a1 e

Options:
1. % 12
2 ¥ 3
2% 0
4 % 23

Question Number : 37 Question Id : 3354724867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 10(x —4) — 15(x — 3) = 3(3 + x) — 20, then the value of xis: /

I 10(x—4) —15(x—3)=3(3+x)—20 §.a x T AA & :
Options:
1. % 1
2 ® 4
3. %3
4. v 2

Question Number : 38 Question Id : 3354724868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The greatest number of & digits Whlch is exactly divisible by 27, 45, 60, 72 and 96 is; | 6 3% & G 951 HE4T
|27, 45, 60, 72 3K 96 ?FTJ%

Options:
1. % 998000

2. % 989980
2. ¥ 997920
4. % 999999

Question Number : 39 Question Id : 3354724869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The nurmber nearest to 14500 which is exactly divisible by 635 is: | 14500 & T4wees @21, 1 635 & yof fv=a ¢
Options:

1. % 13970

2. % 14835

3. ¥ 14805

4. ® 14805

Question Number : 40 Question Id : 3354724870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Samis four-fifth of his uncle's age. If uncle is twice as old of Somy, then what is Sam's age when Somy is 25

%s old? | &W SI0 TIRIT ST S BT 45 1 Tie =T QT & 37 @ GO S, 91 S AT 25 2 @ G de GF S g @

Options:

1.9 40

2. % 35

3% 30

4. % 25

CGeneral Hirndi

Section Id : 335472105
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472105
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354724871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Y w2 Wl HEAT -
Options:

1. %3

= ¥ 4

3. %5

4 ® 2

Question Number : 42 Question Id : 3354724872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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anfeater=a____ o0 ET 7
Options:

1. % difEw

o ® grpdw

3. ¥ Iewieuw

4. v R

Question Number : 43 Question Id : 3354724873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
1. %9
2 %0
3 % T
4 VT

Question Number : 44 Question Id : 3354724874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o T T AT T % HR W o e A e
Options:

1. % a1

z ® g

3.¥ 3

4 % 7

Question Number : 45 Question Id : 3354724875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T TET © ety 50 a1 # ST T &7 ae- H i
Options:

1 ¥ 7

2 % gt

=

3. % @Rl
4 ® e

Question Number : 46 Question Id : 3354724876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
*TEHTAT T T g # & T AT 87

Options:

1. ® SfieAE®
=l T

3 ¥ =

4. % =W

Question Number : 47 Question Id : 3354724877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
“TIET FT YA e g § & 2 arg?

Options:
1.9 ar
2. % apar
3. % @
4. % HAx

Question Number : 48 Question Id : 3354724878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT S Pl H JoUg GUTRT o Todl U deq, W H & BT AT 87
Options:

1. % g

2 ® gl

3. ® e

4 & o

Question Number : 49 Question Id : 3354724879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o @A Teeg TR A d @ AT
Options:

1. Tegg+am

2 % famyw

3 ® Euuw

4 % fr+yw

Question Number : 50 Question Id : 3354724880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Yefere | o el STeg T § 9 w1 &7 37
Options:

1. % grddt

2 % T

2 % Tt

4 & wadi

Question Number : 51 Question Id : 3354724881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘I Uedd | oA Seg WA H A B 57

Options:

1. % amae
2. % aTE

3. % arhdw
4. ¥ TwE
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Question Number : 52 Question Id : 3354724882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST e H g # F w9 A A £
Options:

1. & Jcqey aug

2 ® fgyanE

3. ® AT aHe

4. % iy gug

Question Number : 53 Question Id : 3354724883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT TIEAT Tgrat @ anf g § & @ ar ge

Options:

1. % prefAr ar

2. EeoT e T o
3. % el T W

4 % e # gt g AT

Question Number : 54 Question Id : 3354724884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BRI W 9pg w0 W F R ATE?
Options:

1. % o

o o o

3 %

4 % 7

Question Number : 55 Question Id : 3354724885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tepmd Plvg Teoe STerd]

A0 o =g o S Telte Ue e el

Ul A g A S a7
Options:

1. % andea T

2 % TE

3 ¥ g

4 ® gRTH

Question Number : 56 Question Id : 3354724886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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"HEATR, Tald ST

O HEET T GA BT

STEATE 151 &, aH-a

A e # T g

H I AT SFF R 51 G5 fowed g7
Options:

1. % sridarir awwr

2 & AT aTAw

% % Hdf SFa

4 % ITUMT STAET

Question Number : 57 Question Id : 3354724887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T AT dTeg AT IUAT F ART @7 5
Options:

1. % anfte

2 ¥ aig

2 ® anpff

4 ® aROeq

Question Number : 58 Question Id : 3354724888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fer &1 1t Ul # I AT s g -

AR SEARRL
Options:

1. % i afewn
2. % et aewT
% o AT AT

4, ¥ TF AT

Question Number : 59 Question Id : 3354724889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AITEe - (HEa-Hda) T ST & Wt (A1) aiemT &1 =1 & ?
Options:

1. & T TeE™

2 % gEa-Rdt

3% ETENRT

4 % =

Question Number : 60 Question Id : 3354724890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“He-SHuFeT B T T T I w # R e a?

Options:
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1. % mar
2 % TRt
3. ¥ ST
4. % wagd

28th Dec 17 Shift 2

Fural Econorry and Panchavati Eaj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions;

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472106
4

Online
Mandatory
20

20

20

Yes

No

1
335472106
Yes

Question Number : 61 Question Id : 3354724891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName of the NIC software for Panchayat level e-governance used in Madhya Pradesh. | #es ndar # i g amet

TEITErd ¢ S— e o 1ol TaaTedt STFeaen & 1 a5

Options:

1. % Alruti | 3mghT

2. % Tally | &
% % Pragati | Wi
4. % PanchlLekha | U=ledEr

Question Number : 62 Question Id : 3354724892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At what level is Janpad Panchayat constituted? | 990 T=TMAT &1 &4 800 TG W T 57

Options:

1. % Village | 7H

2. ¥ Block| =Al® (G2)
3. % District | ™&T
4. % State | ¥Fq

Question Number : 63 Question Id : 3354724893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

surajdhara Yojana of Madhya Pradesh government relates to________ | T WS ATE Sl GTeRT T
SCCIDER

Options:
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1. #* Irrigation | W=mE

2. % Field development | 9T & @

3. ¥ High quality Seeds | 3 0T T s
4. % Marketing | oo

Question Number : 64 Question Id : 3354724894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the largest irrigation canal in India? | 9T # FaFEs § & @59 o 9ad a2t g =g 27

Options:

1. ® Lower Ganga Canal | Te=eft T 757
2. % Bhakra Canal | WEaT 757

=, ¥ Indira Gandhi Canal | g meft 957

4 % Sutlej Ganga Link Canal | Gaa 1T fel® T8¢

Question Number : 65 Question Id : 3354724895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which year was Pradhan Mantri Awas Yojana - Grarmin launched? | W= AT ST Fr=7-Tra fme o s &1

Options:

1. % 1935
= % 1995
3. % 2005
4 ¥ 2018

Question Number : 66 Question Id : 3354724896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& financial assistance of s, 1.20 lac each has been provided for the construction of a pucca house (in plain
areas) to all houseless and households living in dilapidated houses in rural areas under the recentl

announced _________ [ AR HEET ______ ST TTATT gt § wt e off Sif- sl et o w5 aAt & Wy 1,20 AN
mmfﬁﬁ?ﬁﬁm g O (AT a1 /) & FHi & S mee e f)
Options:

1. ¢ PMAY(Gramin) | TITATETE (Ui
z. ® PMGSY | ORI

3. ¥ PMMY | dioATARaTE

4. % PMRY | HURSRETE

Question Number : 67 Question Id : 3354724897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The growth rate of GWVA at basic prices for agriculture and allied sectors for the year 2016-17 (2nd advance

estimates) stands at: | @ 2016-17 (ERT SIT0H SAT) @ T6iT BT 71T Heg, 4T o i-raTaT grat 0T Siely & ghi 3¢ 8

Options:
1. % -0.2%

o %1 0%
3. % 21w
4. v 4.4%
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Question Number : 68 Question Id : 3354724898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho among the following is knowm for his pioneerm%;ntrlbutmn to 'Hornogenous Area Approach' to Crop

Insurance in the 197057 | 1970 % T H e SAT &7 T G IASIE QDT ST (STR-Teaqnt 55 giew ﬁmmmrﬁ
e & oy FEie R # 9 g = 9T 5

Options:

1. ¥ Dharm Narain | & JRr=mr

2. ¥ W M Dandekar | @107 SEaT

3. % Amartya Sen | SWcE A

4. % M S Swaminathan | TH.TE. SHARA

Question Number : 69 Question Id : 3354724899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first Agriculture Census of India was carried out by Government of [ndia in
o THT A BT et T #m

Options:
1. % 1956-E7

2. % 1968-69
2. ¥ 1970-71
4 ® 1976-77

Question Number : 70 Question Id : 3354724900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Food Corporation of India was set up in

Options:

1. % 1959
2. % 1963
3. ¥ 1965
4 % 1968

o aed T |Ter Ty st T T em

Question Number : 71 Question Id : 3354724901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Jawaharlal Mehru Krishi Vishwavidhvalaya Act was enacted in: | FaOETATA J5€ g1 eraidenaa afai-=aq
o arferfrertie e mam am

Options:
1. % 1937

2. % 1956
3. ¥ 1963
4 % 1971

Question Number : 72 Question Id : 3354724902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Naticnal Mutrition Week is celebrated from | T O HHE

Options:
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1. % 1to7 August | 1 §7 30T
2. ¥ 110 7 September | 1 & 7 Raww

3 % 2to 8 October | 2 H B STt
4. % MNone of the above | 590 & w12 ot 751

Question Number : 73 Question Id : 3354724903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Poultry comes under which department of Madhya Pradesh government? | $gg Wa A& AT AT o ey TeramT
o st o &7

Options:
1. * Department of Poultry development | Fgie e fem
2. % Madhva Pradesh State Livestock and Poultry Developrment Corporation | 7 049 749 H@Eﬁﬂﬁg@?{ﬁ'aﬂﬂ

Z. ® Department of Rural Development & Panchayati Raj | W 2@ od et e 2
4« Department of Anirmal Husbandry | TS &

Question Number : 74 Question Id : 3354724904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of Krishi Shakti Yojana in Madhya Pradesh is to assist farmers in: | T 0 # §i9 giw T=1 37
TEAT T T AT 8 H AgA T Ae T FAT 5

Options:

1. # Building up physical strength | ST aifds @7 g

2. % idopting new agricultural methods | 78 §8 2rEat #7 am=mEr
% % Procure powerful pesticides | AT aTeT STt & g e

4. ¥ Setting up workshop for production and repair of agri-machinery | F A= & Fo0e" o AT & o0
FTL AT FEAT

Question Number : 75 Question Id : 3354724905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wet Agriculture is practiced mostly in which of the following states? | FERET § & 59 =g ¥ |aaie® o ey

Options:

1. % Madhya Pradesh | e 0
2. % Rajasthan | Trea

= ¥ Kerala | 99d

4 % andhra Pradesh | ST 029

Question Number : 76 Question Id : 3354724906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which state government launched “Agri-Junctions” to provide farm inputs etc. to farmers, besides providing
business opportunities to rural youth and employment to agriculture graduates? | od o SaT o
Eb_(g &

WG o ST o HIY WG] B AT He aﬁﬁmmﬁmaﬂﬁﬁfﬁq’qﬁa’mﬂ#ﬂmﬁ
ETT HTE?
Options:
1. ¥ Madhya Pradesh | T 0

2. % andhra Pradesh | ST 09
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=, ¢ Uttar Pradesh | 3% 0aa
4. % Himachal Pradesh | A= m2ar

Question Number : 77 Question Id : 3354724907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Central 5oil Salinity Research institute is located in ______ | T HET WA ST e Hiem

Options:

1. # vidisha | fafeam
2. % Trichy | B

% % Ranchi | T/
4. % Karnal | 91

Question Number : 78 Question Id : 3354724908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Gram Eadhega, Desh Eadhega’ is the motto of which scherne? | TE S47T, 9 97T ToFe e &7 A1 amer 27
Options:

1. % Saansad Adarsh Gram Yojana | T9g sl T Tr==r

2. % Pradhan Mantri Jan Dhan Yojana | W §27 3 & AT

% % Deen Dayal Upadhyay Grameen Kaushalya Yojana | 319 SOT6 JUTEATT TTHT ST 1
4. ® Swarna Jayanthi Gramin Swarczgar Yojana | w2 Sd T T 2 e DT

Question Number : 79 Question Id : 3354724909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is considered as the Father of White Revolution’ in India? | ARa # "#5F Fid &7 A4% e TE5T AG7 57

Options:

1. % Dr.N.5.Swaminathan | ST T AR
2. % Dr.Homi ] Ehaba | T g 447

3. % HD.Dalaya | T2 gAET

4+ Dr Varghese Kurien | 2T 9 Fiag

Question Number : 80 Question Id : 3354724910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year was the National Horticultural Mission launched? | T o # T8 amrenT T @7 g fom=m mare

Options:
1. % 2010-11
2. ¥ 2005-08
3. % 2007-08
4. % 2001-02
Cormputer Knowledge
Section Id : 335472107
Section Number : 5
Section type: Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472107
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354724911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OS5 stands for: | OS5 FTY €T E:

Options:

1. % Cperating Solution | SO Helga=
2. % Cpen Systern [ S0 REEH

3. % Cperating Stand | s gtz

4. Cperating Systern | ST Feea

Question Number : 82 Question Id : 3354724912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following Generations used vacuurn tubes? | T # & o 0T 7 S = &7 J0i foar ar?

Options:

1. % First Generation | WA 0i&T
2. % Third Generation | 3319 94T
Z. % Fourth Generation | ogef 1T
4. % Fifth Generation | T=A d1&T

Question Number : 83 Question Id : 3354724913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The act of gaining unauthorised access to data in a cornputer or a systemis called _____________ O YT
AT I T § ST a9 SFTTHEd Ugrad W weT i T ee EEEIGI
Options:

1. # Virus attack | 920 50T
2. % Forgery | S&A€w=T

= % Hacking | g

4. % Phishing | s

Question Number : 84 Question Id : 3354724914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many bits make 1 byte? | firg= e, 1 age & a=1d 57
Options:

1.¥ 3

2 % 32
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3 % 64
4 % 1024

Question Number : 85 Question Id : 3354724915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:
1. % Shift + F=

2. % Shift + F2
3. % Shift +F10
4. % Shift +F1Z2

Question Number : 86 Question Id : 3354724916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS Word 2007, a text character’s lettering style and size can be changed by setting the __________ menu. |
THTE &2 2007 ¥, UF dgae @1 fora- 31 G5 1T AR, _______ AT & ZWT ToRgT AT | AT 81
Options:

1. % font | BT

2. % style | A

2. % design | fEeES
4 # theme | #17

Question Number : 87 Question Id : 3354724917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which bu%t?ton is used to attach attachments in outlook? | $TETe® H SR BT 3100 HO @& ol Toe sie @1 Ui
eI AT

Options:

v 0

o ® A=
>
oW
l?
4 ®

Question Number : 88 Question Id : 3354724918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
%‘ﬁ?mich of the following is a wireless form of internet connectivity? | 798 # @ &9 Setde Fde Tdel HT 0% TR &

Options:
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1. % Dial-up | STUd-37

2. % DSL | Soaa

3. % Cable Internet Access | tad sot-e Uadd
4. ¥ 3G or 4G | 35T AT 45T

Question Number : 89 Question Id : 3354724919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich cog?unand is MOT used to switch off the computer? | FET &t e o e & o7 e FHiE %1 Ui 951
T AT 2

Options:

1. % Turn off | = &

2. % shut down | 92 E&34
= ¥ Log off | @1 &TF

4, % Hibernate | gTgai-g

Question Number : 90 Question Id : 3354724920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The keystrokes Ctrl + [ is used to: | g1 Ctrl + [ S8 077 WJEd &1 AT &
Options:

1. ® Increase font size | BT A5 95

2 % Inserts a line break | UF A5 5 3180 i
3. % Indicate the text should be bold | =% Farg T & o] 19 dpee aias 547 aTiey
4 ¥ applies italic format to the selected text | Heigre 0T T SFEE F1 3¢ oid B

Question Number : 91 Question Id : 3354724921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is INCORRECT statermnent about worksheet according to MS Excel 20077 | M= 8§ €
TS Ugas 2007 & o, gl & 9 § &9 971 T804 9 27

Options:
1. ® Sheet tabs can be colored | 12 Ta@ T g1 @1 g

o % SO%E picture can be applied as a background of a sheet | FF B=1 ®1 0w AT & S90S & &0 0 gHAATA AT
AT FEHAT

3. % You can set the colurmn width autorratically to fit the amount of text | S0 HIW &1 a1 Fioe 92 F TR &
AT SHHT T AT o o Had: e g

4 ¥ The width of a row can be specified manually or fit autornatically | Ui &1 T2 # 56T &7 & Agarmr
TR e e = waaT 21

Question Number : 92 Question Id : 3354724922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The internet is a systernof _______ S EEET T T TOITAT 2

Options:

1. ® Softwmare bundles | SFdeR 920d
2. % Web page | 99 U

3 % Website | de@Ee

4 Interconnected networks | Sel@dies Jedad
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Question Number : 93 Question Id : 3354724923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following tools is used in M5-Word 2007 to check the spelling? | THUE 92 2007 # =T AT
TUTGIT T Tl - o T Tomed gt o Suain Far < 87

Options:

1. ® Research | frerl

2. % word Count | 92 ®TaE

3. % Setlanguage | 9T AT

4, ¥ Spelling & Grammar | TIHT g TTHY

Question Number : 94 Question Id : 3354724924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Caps lock and Nums lock keys are called_____ | U @ (Caps lock) 3T THE Al [Murris lock) g

Options:

1. % Numeric keys | Tif®m ghaar

2 ® aslphanumeric keys | UAhHIHNE Fral
3. ¥ Toggle keys | A g

4 % Special purpose keys | qUSH T Frraar

Question Number : 95 Question Id : 3354724925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of devices are cornputer speakers or headphones? | #Tged & U a7 52h I T T ! 2asd 57

Options:

1. ¥ Input | 3492

= ® sSoftware | HiFeday
3. ® Storage | A

4 % Output | TGS

Question Number : 96 Question Id : 3354724926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Personal cormputers can be connectad together to forma: | Wi @ = FEe & i 3 50 U |amr FieT =1 a9 &

Options:
1. % Seryer | ¥dv

2. % Supercormputer | GuT FHTIET
2. ¥ MNetworl | S

4. % Enterprise | UetWEA

Question Number : 97 Question Id : 3354724927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e resides in the cabinet and connects all parts of cormputer. | ______ e o TgaT & ofT dygeT & it it
Options:
1. % CPU | |
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2. % Motherboard | FEtdlS
= % Monitor | BT

4 % Ups | dga

Question Number : 98 Question Id : 3354724928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In M5 Excel, Sun, Mon, Tue, etc, is an exarmple of: | THTA UFad H, T (Sun), JF Mon), T (Tue) AT F I21500 &
Options:

1. ¥ Series | @

2 % Equation | $Fda=

3. % Function | Bead

4 % Forrrula | ®HAT

Question Number : 99 Question Id : 3354724929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel, the cell address of 7th row & 7th colurmn is: | TAUE TFEA H, 721 1 U 74 B0 &1 & U2 &
Options:

1. ®¥ F7

o V¥ GT

3. % H7

4 % E7

Question Number : 100 Question Id : 3354724930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Assernbly language is a: | el AT T 511 &

Options:

1. ® Machine language | A w1

2 % High level prograrming language | §T8 wae TUTHT #1Te=

3. ¥ Low level prograrmring language | @ side T Ae

4 % Language for assernbling cornputers | YR i S TeeT & &I e
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